Potencias de 10

(E)

4.5264 = 0.1

1.4461 0.1

7.075+0.1

5.2409 0.1

6.8243 +0.1

7.8343 0.1

6.0835+0.1

5.0196 0.1

5.2328 +0.1

9.0936 +0.1

Calcule los siguientes cocientes.

6.5108 +0.1

9.0714 +0.1

8.8336 0.1

6.993 0.1

3.4597+0.1

2.9788 0.1

6.6472 0.1

1.6462 0.1

5.438+0.1

1.3378 0.1
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Potencias de 10 (E) Respuestas

4.5264 0.1
45.264
1.4461 0.1
14.461
7.075+0.1
70.75
5.2409 +0.1
52.409
6.8243 0.1
68.243
7.8343 0.1
78.343
6.0835+0.1
60.835
5.0196 0.1
50.196
5.2328 0.1
52.328
9.0936 0.1
90.936

Calcule los siguientes cocientes.

6.5108 - 0.1
65.108
9.0714 +0.1
90.714
8.8336 +0.1
88.336
6.993 0.1
69.93
3.4597 0.1
34.597
2.9788 0.1
29.788
6.6472 0.1
66.472
1.6462 0.1
16.462
5.438 +0.1
54.38
1.3378 0.1
13.378
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